

New Result on the Existence of Positive Periodic Solutions to Neutral Population Model with Multiple Delays¹

Shiping Lu

Department of Mathematics, Anhui Normal University
Wuhu 241000, Anhui, P. R. China
lushiping26@sohu.com or lushipng@mail.wh.ah163.net

Abstract

In this paper, the authors employ an abstract continuous theorem of k-set contractive operator and some analysis techniques to study a neutral population model with multiple delays as follows

$$\frac{dN}{dt} = N(t)[a(t) - \beta(t)N(t) - \sum_{j=1}^n b_j(t)N(t - \sigma_j(t)) - \sum_{i=1}^m c_i(t)N'(t - \tau_i(t))].$$

A new result on the existence of positive periodic solutions is obtained.

Mathematics Subject Classification: 34C25, 34K40

Keywords: neutral population model, k-set contractive operator, positive periodic solution

§1. Introduction

Let $\omega > 0$ be a constant, $C_\omega = \{x | x \in C(R, R), x(t + \omega) \equiv x(t)\}$ with the norm defined by $|x|_0 = \max_{t \in [0, \omega]} |x(t)|$, and $C_\omega^1 = \{x | x \in C^1(R, R), x(t + \omega) \equiv x(t)\}$ with the norm defined by $\|x\| = \max\{|x|_0, |x'|_0\}$. Then C_ω, C_ω^1 are all Banach spaces, and also we denote $\bar{h} := \frac{1}{\omega} \int_0^\omega h(s) ds$.

In the past few years, the problems of positive periodic solutions for some Lotka Volterra population models with delay were studied by [1-4]. Also, there

¹Sponsored by the NNSF of China (10371006); the NSF of Anhui Province of China (2005kj031ZD; 050460103) and the Teaching and Research Award Program for Excellent Teachers in Higher Education Institution of Anhui Province of China.

were some work, see [5-7] and the references therein, to study the problems of boundedness and stability of solutions to some neutral population models with delay. In 1993, Kuang Yang in paper [8] proposed an open problem(open problem 9.2) to obtain sufficient conditions for the existence of positive periodic solutions of the following equation

$$\frac{dN}{dt} = N(t)[a(t) - \beta(t)N(t) - b(t)N(t - \tau(t)) - c(t)N'(t - \tau(t))], \quad (1.1)$$

where $a(t), \beta(t), b(t), c(t)$ and $\tau(t)$ are all in C_ω with $a(t) \geq 0, \tau(t) \geq 0, \forall t \in [0, \omega]$. In recent years, some researchers have paid much attention to such an open problem. For example, Fang Hui and Li Jibin in paper [9] studied Eq.(1.1) and gave an answer to open problem 9.2 of paper [8], and also in [10], Lu and Ge consider the existence of positive periodic solutions for the following neutral population model with multiple delays

$$\frac{dN}{dt} = N(t)[a(t) - \beta(t)N(t) - \sum_{j=1}^n b_j(t)N(t - \sigma_j(t)) - \sum_{i=1}^m c_i(t)N'(t - \tau_i(t))], \quad (1.2)$$

where $a(t), \beta(t), b_j(t), c_i(t), \sigma_j(t), \tau_i(t)$ are all in C_ω with $\sigma_j(t) \geq 0$ and $\tau_i(t) \geq 0, \forall t \in [0, \omega]$. Furthermore, $\sigma_j \in C^1(R, R)$ with $\sigma_j'(t) < 1, \forall t \in [0, \omega]$, $c_i \in C^1(R, R)$ and $\tau_i(t) \in C^2(R, R)$ with $\tau_i'(t) < 1, \forall t \in [0, \omega], \forall i \in \{1, 2, \dots, m\}, \forall j \in \{1, 2, \dots, n\}$. But the crucial condition such as

[C] There is a constant $r_0 > 0$ such that

$$\max\left\{\sum_{i=1}^m |c_i|_0, \sqrt{2} \sum_{j=1}^n |b_j|_0 l_j + \sum_{i=1}^m |c_{0,i}|_0\right\} e^{r_0} < 1 \quad (1.3)$$

and

$$r_0 > \left| \ln \frac{\bar{a}}{\beta + \sum_{j=1}^n \bar{b}_j} \right| + \omega^{1/2} \left(\frac{r_0 |a'|_1 + [|\beta'|_1 + \sum_{j=1}^n |b'_j|_1] e^{r_0}}{1 - [\sqrt{2} \sum_{j=1}^n |b_j|_0 l_j + \sum_{i=1}^m |c_{0,i}|_0] e^{r_0}} \right)^{1/2},$$

where l_j is a constant with $l_j = \min_{m_j \in Z} |\sigma_j - m_j \omega|_0$, Z is the set of integer, $c_{0,i}(t) = \frac{c_i(t)}{1 - \tau_i'(t)}$, $i = 1, 2, \dots, m, j = 1, 2, \dots, n$, was required.

In this paper, we continue to study the existence of positive periodic solutions to Eq. (1.2). By using an abstract continuation theorem for k-set contraction [11,12] and some analysis techniques, a new result on the existence of positive periodic solutions is obtained. The interest is that the conditions guaranteed the existence of positive periodic solutions to Eq.(1.2) are different from the corresponding ones of [10]. For example, we require

$$\max\left\{\sum_{i=1}^m |c_i|_0, \sum_{i=1}^m |c_{0,i}|_0\right\} e^{r_0} < 1,$$

which is weaker than condition (1.3).

In order to study the problem of existence of positive periodic solution to Eq.(1.2), we take the substitution $N(t) = e^{x(t)}$, and then (1.2) can be rewritten in the following form

$$x'(t) = a(t) - \beta(t)e^{x(t)} - \sum_{j=1}^n b_j(t)e^{x(t-\sigma_j(t))} - \sum_{i=1}^m c_i(t)x'(t-\tau_i(t))e^{x(t-\tau_i(t))}. \quad (1.4)$$

Remark 1.1 From the substitution $N(t) = e^{x(t)}$, it is easy to see that Eq.(1.2) has a positive periodic solution $N(t) = e^{y(t)}$ if and only if Eq.(1.4) has a periodic solution $x(t) = y(t)$.

§2. Main Lemmas

For the sack of applying an abstract continuous theorem of k -set contractive operator to study Eq.(1.4), we should make some preparations in the fist for the convenience of the reader.

Let E be a Banach space. For a bounded subset $A \subset E$,

$$\alpha_E(A) = \inf\{\delta > 0 \mid \text{There is a finite number of subsets } A_i \subset A \text{ such that } A = \cup_{i=1} A_i \text{ and } \text{diam}(A_i) \leq \delta\}$$

denote the (Kuratowski) measure of non-compactness, where $\text{diam}(A_i)$ denotes the diameter of set A_i . Let X, Y be two Banach spaces and Ω be a bounded open subset of X . A continuous and bounded map $\mathcal{N} : \bar{\Omega} \rightarrow Y$ is called k -set contractive if for any bounded set $A \subset \Omega$ we have

$$\alpha_Y(\mathcal{N}(A)) \leq k\alpha_X(A),$$

where k is a constant. Also, for a Fredholm operator $\mathbb{L} : X \rightarrow Y$ with index zero, according to papers [11,12] we may define that

$$l(\mathbb{L}) = \sup\{r \geq 0 \mid r\alpha_X(A) \leq \alpha_Y(\mathbb{L}(A)), \text{ for all bounded subset } A \subset X\}.$$

Lemma 2.1^[13]. Let $\mathbb{L} : X \rightarrow Y$ be a Fredholm operator with zero index, and $a \in Y$ be a fixed point. Suppose that $\mathcal{N} : \Omega \rightarrow Y$ is a k -set contractive with $k < l(\mathbb{L})$, where $\Omega \subset X$ is bounded, open, and symmetric about $0 \in \Omega$. Further, we also assume that

- (1) $\mathbb{L}x \neq \lambda\mathcal{N}x + \lambda a$, for $x \in \partial\Omega$, $\lambda \in (0, 1)$, and
- (2) $[Q\mathcal{N}(x) + Qa, x] \cdot [Q\mathcal{N}(-x) + Qa, x] < 0$, for $x \in \ker\mathbb{L} \cap \partial\Omega$

where $[\cdot, \cdot]$ is a bilinear form on $Y \times X$ and Q is the projection of Y onto $\text{Coker}(\mathbb{L})$, where $\text{Coker}(\mathbb{L})$ is the cokernel of the operator \mathbb{L} . Then there is a $x \in \bar{\Omega}$ such that

$$\mathbb{L}x - \mathcal{N}x = a.$$

In order to use Lemma 2.1 to study Eq. (1.4), we set $Y = C_\omega, X = C_\omega^1$,

$$\mathbb{L} : X \rightarrow Y, \mathbb{L}x = \frac{dx}{dt} \tag{2.1}$$

and $\mathcal{N} : X \rightarrow Y$ defined by

$$\mathcal{N}x = -\beta(t)e^{x(t)} - \sum_{j=1}^n b_j(t)e^{x(t-\sigma_j(t))} - \sum_{i=1}^m c_i(t)x'(t-\tau_i(t))e^{x(t-\tau_i(t))}. \tag{2.2}$$

Remark 2.1: Clearly, Eq.(1.4) can be converted to $\mathbb{L}x - \mathcal{N}x = a$ for $a := a(t)$.

Lemma 2.2[Lemma 3.2, 9, 10] The differential operator \mathbb{L} is a Fredholm operator with index zero, and satisfies $l(\mathbb{L}) \geq 1$.

Lemma 2.3. Let r_0, r_1 be two positive constants, and $\Omega = \{x|x \in C_\omega^1, |x|_0 < r_0, |x'|_0 < r_1\}$. If $k = (\sum_{i=1}^m |c_i|_0)e^{r_0}$, then $N : \Omega \rightarrow C_\omega$ is a k -contractive map.

As Lemma 2.3 can be proved in the same way as in the proofs of Lemma 3 of [14], we omit it here.

Lemma 2.4 [Lemma 2.4, 13] Suppose $\tau \in C_\omega^1$ and $\tau'(t) < 1, \forall t \in [0, \omega]$. Then the function $t - \tau(t)$ has a unique inverse $\mu(t)$ satisfying $\mu \in C(R, R)$ with $\mu(u + \omega) = \mu(u) + \omega, \forall u \in R$.

Remark 2.2: By using Lemma 2.4, we see that if $g \in C_\omega, \tau \in C_\omega^1$ and $\tau'(t) < 1, \forall t \in [0, \omega]$, then $g(\mu(t + \omega)) = g(\mu(t) + \omega) = g(\mu(t)), \forall t \in R$, where $\mu(t)$ is the inverse function of $t - \tau(t)$, which together with $\mu \in C(R, R)$ implies that $g(\mu(t)) \in C_\omega$.

§3.Main Result

As $\tau'_i(t) < 1, \sigma'_j(t) < 1, \forall t \in [0, \omega]$, we see that either $t - \tau_i(t)$ or $t - \sigma_j(t)$ has a unique inverse. Throughout this paper, we set $\gamma_i(t), \mu_j(t)$ to represent the inverse of function $t - \tau_i(t)$ and $t - \sigma_j(t)(i = 1, 2, \dots, m; j = 1, 2, \dots, n)$, respectively. Furthermore

$$\Gamma(t) := \beta(t) + \sum_{j=1}^n \frac{b_j(\mu_j(t))}{1 - \sigma'_j(\mu_j(t))} - \sum_{i=1}^m \frac{c'_{0,i}(\gamma_i(t))}{1 - \tau'_i(\gamma_i(t))}, \tag{3.1}$$

where $c_{0,i}(t) = \frac{c_i(t)}{1 - \tau'_i(t)}, (i = 1, 1, \dots, m)$, and

$$\Gamma_1(t) := |\beta(t)| + \left| \sum_{j=1}^n \frac{b_j(\mu_j(t))}{1 - \sigma'_j(\mu_j(t))} \right|. \tag{3.2}$$

Remark 3.1: By Lemma 2.4, we see $\mu_j(\omega) = \mu_j(0) + \omega, \forall j \in \{1, 2, \dots, n\}$. So

$$\int_0^\omega \frac{b_j(\mu_j(s))}{1 - \sigma'_j(\mu_j(s))} ds = \int_{\mu_j(0)}^{\mu_j(\omega)} \frac{b_j(t)(1 - \sigma'_j(t))}{1 - \sigma'_j(t)} dt = \int_{\mu_j(0)}^{\mu_j(0)+\omega} b_j(t) dt = \bar{b}_j,$$

$$\forall j \in \{1, 2, \dots, n\}.$$

Similarly,

$$\int_0^\omega \frac{c'_{0,i}(\gamma_i(s))}{1 - \tau'_i(\gamma_i(s))} ds = \int_{\gamma_i(0)}^{\gamma_i(\omega)} \frac{c'_{0,i}(t)(1 - \tau'_i(t))}{1 - \tau'_i(t)} dt = \int_0^\omega c'_{0,i}(t) dt = 0, \forall i \in \{1, 2, \dots, m\}.$$

Thus,

$$\begin{aligned} \bar{\Gamma} &= \frac{1}{\omega} \int_0^\omega \Gamma(s) ds = \frac{1}{\omega} \left[\beta(t) + \sum_{j=1}^n \int_0^\omega \frac{b_j(\mu_j(s))}{1 - \sigma'_j(\mu_j(s))} ds - \sum_{i=1}^m \int_0^\omega \frac{c'_{0,i}(\gamma_i(s))}{1 - \tau'_i(\gamma_i(s))} ds \right] \\ &= \bar{\beta} + \sum_{j=1}^n \bar{b}_j. \end{aligned} \tag{3.3}$$

Theorem 3.1 Suppose that the following conditions hold.

[H₁] $\bar{a} > 0, \Gamma(t) > 0, \forall t \in [0, \omega]$.

[H₂] There is a constant $r_0 > 0$ such that

$$\max\left\{ \sum_{i=1}^m |c_i|_0, \sum_{i=1}^m |c_{0,i}|_0 \right\} e^{r_0} < 1$$

and

$$r_0 > \left| \ln \frac{\bar{a}}{\bar{\beta} + \sum_{j=1}^n \bar{b}_j} \right| + \frac{\omega \bar{a} [1 + |\frac{\Gamma_1}{\Gamma}|_0]}{1 - \sum_{i=1}^m |c_{0,i}|_0 e^{r_0}}.$$

Then Eq.(1.2) has at least one positive ω - periodic solution, where $\Gamma(t)$ and $\Gamma_1(t)$ is defined by (3.1) and (3.2), respectively.

Proof: From Remark 1.1 and Remak 2.1, it suffice to show that the equation $Lx = \mathcal{N}x + a$ has a solution $x \in C_\omega$, where $a := a(t)$, \mathcal{N}, L is defined by (2.1) and (2.2), respectively. In order to do it, let $u(t)$ be an arbitrary ω -periodic solution of the operator equation as follows

$$Lu = \lambda \mathcal{N}u + \lambda a, \lambda \in (0, 1).$$

Then

$$u'(t) = \lambda [a(t) - \beta(t)e^{u(t)} - \sum_{j=1}^n b_j(t)e^{u(t-\sigma_j(t))} - \sum_{i=1}^m c_i(t)u'(t - \tau_i(t))e^{u(t-\tau_i(t))}]. \tag{3.4}$$

Integrating both sides of (3.4) over $[0, \omega]$, we have

$$\bar{a}\omega = \int_0^\omega [\beta(t)e^{u(t)} + \sum_{j=1}^n b_j(t)e^{u(t-\sigma_j(t))} - \sum_{i=1}^m c'_{0,i}(t)e^{u(t-\tau_i(t))}] dt. \tag{3.5}$$

Let $t - \sigma_j(t) = s$, i.e., $t = \mu_j(s)$, then

$$\int_0^\omega b_j(t)e^{u(t-\sigma_j(t))}dt = \int_{-\sigma_j(0)}^{\omega-\sigma_j(\omega)} \frac{b_j(\mu_j(s))}{1 - \sigma'_j(\mu_j(s))}e^{u(s)}ds.$$

In view of Remark 2.1, we see

$$\int_0^\omega b_j(t)e^{u(t-\sigma_j(t))}dt = \int_0^\omega \frac{b_j(\mu_j(s))}{1 - \sigma'(\mu_j(s))}e^{u(s)}ds, (j = 1, 2, \dots, n).$$

Similarly,

$$\int_0^\omega c'_{0,i}(t)e^{u(t-\tau_i(t))}dt = \int_0^\omega \frac{c'_{0,i}(\gamma_i(s))}{1 - \tau'(\gamma_i(s))}e^{u(s)}ds, (i = 1, 2, \dots, m).$$

So from (3.5), we get

$$\int_0^\omega \Gamma(s)e^{u(s)}ds = \bar{a}\omega. \tag{3.6}$$

Considering assumption $[H_1]$, we know $\Gamma(t) \geq 0, \forall t \in [0, \omega]$, and then it follows from the integro mean value theorem that there is a $\xi \in [0, \omega]$ such that

$$e^{u(\xi)} \int_0^\omega \Gamma(s)ds = \bar{a}\omega$$

i.e.,

$$e^{u(\xi)} = \frac{\bar{a}}{\bar{\Gamma}},$$

which together with (3.3) yields

$$u(\xi) = \ln \frac{\bar{a}}{\bar{\Gamma}} = \frac{\bar{a}}{\beta + \sum_{j=1}^n \bar{b}_j},$$

and then

$$|u|_0 \leq \left| \ln \frac{\bar{a}}{\beta + \sum_{j=1}^n \bar{b}_j} \right| + \int_0^\omega |u'(s)|ds. \tag{3.7}$$

Let $\Omega = \{x : x \in C^1_\omega, |x|_0 < r_0, |x'|_0 < r_1\}$, where r_0 is defined by $[H_2]$ and r_1 is a constant satisfying

$$r_1 > \frac{|a|_0 + |\beta|_0 + \sum_{j=1}^n |b_j|_0}{1 - \sum_{i=1}^m |c_i|_0 e^{r_0}}. \tag{3.8}$$

In what follows, we will prove that

$$\mathbb{L}x \neq \lambda \mathcal{N}x + \lambda a, \forall \lambda \in (0, 1) \text{ and } \forall x \in \partial\Omega.$$

Suppose the contrary. Then there must be a $\lambda \in (0, 1)$ and an $x \in \partial\Omega$ such that

$$\mathbb{L}x = \lambda \mathcal{N}x + \lambda a,$$

i.e.,

$$x'(t) = \lambda[a(t) - \beta(t)e^{x(t)} - \sum_{j=1}^n b_j(t)e^{x(t-\sigma_j(t))} - \sum_{i=1}^m c_i(t)x'(t - \tau_i(t))e^{x(t-\tau_i(t))}]. \quad (3.9)$$

From (3.7), we see

$$|x|_0 \leq \left| \ln \frac{\bar{a}}{\beta + \sum_{j=1}^n \bar{b}_j} \right| + \int_0^\omega |x'(s)| ds. \quad (3.10)$$

In view of $x \in \partial\Omega$, we see either $|x|_0 = r_0$ and $|x'|_0 \leq r_1$; or $|x'|_0 = r_1$ and $|x|_0 \leq r_0$.

Case 1. If $|x|_0 = r_0$, then from (3.9) we get

$$\begin{aligned} & \int_0^\omega |x'(t)| dt \\ & \leq \int_0^\omega |a(t)| dt + \int_0^\omega |\beta(t)| e^{x(t)} dt + \sum_{j=1}^n \int_0^\omega |b_j(t)| e^{x(t-\sigma_j(t))} dt + \\ & \quad e^{|x|_0} \sum_{i=1}^m \int_0^\omega |c_i(t)| |x'(t - \tau_i(t))| dt \\ & = \bar{|a|}\omega + \int_0^\omega |\beta(t)| e^{x(t)} dt + \sum_{j=1}^n \int_0^\omega \frac{|b_j(\mu_j(s))|}{1 - \sigma'_j(\mu_j(s))} e^{x(s)} ds + \\ & \quad e^{|x|_0} \sum_{i=1}^m \int_0^\omega |c_{0,i}(s)| |x'(s)| ds \\ & \leq \bar{|a|}\omega + \int_0^\omega \Gamma_1(t) e^{x(t)} dt + e^{|x|_0} \sum_{i=1}^m |c_{0,i}|_0 \int_0^\omega |x'(s)| ds \\ & \leq \bar{|a|}\omega + \int_0^\omega \frac{\Gamma_1(t)}{\Gamma(t)} \Gamma(t) e^{x(t)} dt + e^{|x|_0} \sum_{i=1}^m |c_{0,i}|_0 \int_0^\omega |x'(s)| ds \\ & \leq \bar{|a|}\omega + \left| \frac{\Gamma_1}{\Gamma} \right|_0 \int_0^\omega \Gamma(t) e^{x(t)} dt + e^{|x|_0} \sum_{i=1}^m |c_{0,i}|_0 \int_0^\omega |x'(s)| ds. \end{aligned}$$

By (3.6) and $|x|_0 = r_0$, we see from the above inequality that

$$\int_0^\omega |x'(t)| dt \leq \bar{|a|}\omega \left[1 + \left| \frac{\Gamma_1}{\Gamma} \right|_0 \right] + e^{|r|_0} \sum_{i=1}^m |c_{0,i}|_0 \int_0^\omega |x'(s)| ds. \quad (3.11)$$

As $e^{|r|_0} \sum_{i=1}^m |c_{0,i}|_0 < 1$, it follows from (3.11) that

$$\int_0^\omega |x'(t)| dt \leq \frac{\bar{|a|}\omega \left[1 + \left| \frac{\Gamma_1}{\Gamma} \right|_0 \right]}{1 - e^{|r|_0} \sum_{i=1}^m |c_{0,i}|_0}.$$

So by (3.10), we have

$$r_0 = |x|_0 \leq \left| \ln \frac{\bar{a}}{\beta + \sum_{j=1}^n \bar{b}_j} \right| + \frac{\bar{|a|}\omega \left[1 + \left| \frac{\Gamma_1}{\Gamma} \right|_0 \right]}{1 - e^{|r|_0} \sum_{i=1}^m |c_{0,i}|_0},$$

which contradicts assumption $[H_2] : r_0 > \left| \ln \frac{\bar{a}}{\bar{\beta} + \sum_{j=1}^n \bar{b}_j} \right| + \frac{|\bar{a}| \omega [1 + \frac{\Gamma_1}{\Gamma} |0|]}{1 - e^{r_0} \sum_{i=1}^m |c_{0,i}|_0}$.

Case 2. If $|x'|_0 = r_1$ and $|x|_0 \leq r_0$, then by (3.7) we see

$$\begin{aligned} |x'|_0 &\leq |a|_0 + |\beta|_0 e^{|x|_0} + \sum_{j=1}^n |b_j|_0 e^{|x|_0} + \sum_{i=1}^m |c_i|_0 e^{|x|_0} |x'|_0 \\ &\leq |a|_0 + |\beta|_0 e^{r_0} + \sum_{j=1}^n |b_j|_0 e^{r_0} + \sum_{i=1}^m |c_i|_0 e^{r_0} |x'|_0. \end{aligned}$$

It follows that

$$r_1 = |x'|_0 \leq \frac{|a|_0 + |\beta|_0 e^{r_0} + \sum_{j=1}^n |b_j|_0 e^{r_0}}{1 - \sum_{i=1}^m |c_i|_0 e^{r_0}},$$

which is also contradicts (3.8). So

$$Lx \neq \lambda \mathcal{N}x + \lambda a, \lambda \in (0, 1), x \in \partial\Omega.$$

Now, we define a bounded bilinear form $[\cdot, \cdot]$ on $C_\omega \times C_\omega^1$ by $[y, x] = \int_0^\omega y(t)x(t)dt$. Also we define $Q : y \rightarrow Coker(L)$ by $y \rightarrow \frac{1}{\omega} \int_0^\omega y(t)dt$. Obviously,

$$\{x|x \in kerL \cap \partial\Omega\} = \{x|x \equiv r_0, \text{ or } x \equiv -r_0\}$$

Without loss of generality, we may assume that $x \equiv r_0$. Thus

$$\begin{aligned} &[QN(x) + Q(a), x] \cdot [QN(-x) + Q(a), x] \\ &= r_0^2 \left[\int_0^\omega a(t)dt - e^{r_0} \left(\int_0^\omega \beta(t)dt + \sum_{j=1}^n \int_0^\omega b_j(t)dt \right) \right] \\ &\quad \left[\int_0^\omega a(t)dt - e^{-r_0} \left(\int_0^\omega \beta(t)dt + \sum_{j=1}^n \int_0^\omega b_j(t)dt \right) \right] \\ &= r_0^2 \omega^2 [\bar{a} - e^{r_0}(\bar{\beta} + \sum_{j=1}^n \bar{b}_j)][\bar{a} - e^{-r_0}(\bar{\beta} + \sum_{j=1}^n \bar{b}_j)]. \end{aligned}$$

(3.12)

As $r_0 > \left| \ln \frac{\bar{a}}{\bar{\beta} + \sum_{j=1}^n \bar{b}_j} \right|$, we see

$$r_0 > \left| \ln \frac{\bar{a}}{\bar{\beta} + \sum_{j=1}^n \bar{b}_j} \right| \geq \ln \frac{\bar{a}}{\bar{\beta} + \sum_{j=1}^n \bar{b}_j}$$

and

$$-r_0 < -\left| \ln \frac{\bar{a}}{\bar{\beta} + \sum_{j=1}^n \bar{b}_j} \right| \leq \ln \frac{\bar{a}}{\bar{\beta} + \sum_{j=1}^n \bar{b}_j}.$$

Then

$$\bar{a} - e^{r_0}(\bar{\beta} + \sum_{j=1}^n \bar{b}_j) < \bar{a} - \frac{\bar{a}}{\bar{\beta} + \sum_{j=1}^n \bar{b}_j}(\bar{\beta} + \sum_{j=1}^n \bar{b}_j) = 0$$

and

$$\bar{a} - e^{-r_0}(\bar{\beta} + \sum_{j=1}^n \bar{b}_j) > \bar{a} - \frac{\bar{a}}{\bar{\beta} + \sum_{j=1}^n \bar{b}_j}(\bar{\beta} + \sum_{j=1}^n \bar{b}_j) = 0.$$

It follows from (3.12) that

$$[QN(x) + Q(a), x] \cdot [QN(-x) + Q(a), x] < 0.$$

Therefore, by using Lemma 2.1, we obtain that Eq.(1.2) has at least one positive ω -periodic solution.

For example, let us consider the following equation

$$N'(t) = N(t)[\sin^2 t - \frac{1}{4}N(t) - \frac{1}{4}N(t - 1 - \frac{\sin t}{2}) - \frac{1 + \frac{1}{2} \sin t}{4e^{20}}N'(t - 1 - \frac{1}{2} \cos t)]. \tag{3.13}$$

Corresponding to Eq.(1.2), we have $\omega = 2\pi, a(t) = \sin^2 t, \beta(t) = b_1(t) \equiv \frac{1}{4}, c_1(t) = \frac{1 + \frac{1}{2} \sin t}{4e^{20}}, \sigma_1(t) = 1 + \frac{\sin t}{2}$ with $\sigma_1'(t) = \frac{\cos t}{2} < 1, \forall t \in [0, 2\pi]$ and $\tau_1(t) = 1 + \frac{1}{2} \cos t$ with $\tau_1'(t) = -\frac{1}{2} \sin t < 1, \forall t \in [0, 2\pi]$. So $c_{0,1}(t) = \frac{c_1(t)}{1 - \tau_1'(t)} = \frac{1}{4e^{20}}$, and then $\Gamma(t) = \Gamma_1(t) = \frac{1}{4} + \frac{1}{4(1 - \frac{1}{2} \cos \mu_1(t))} > 0, \forall t \in [0, 2\pi]$, where $\mu_1(t)$ is the inverse of $t - 1 - \frac{1}{2} \sin t$. So we can chose $r_0 = 20$ such that

$$\max\{\sum_{i=1}^m |c_i|_0, \sum_{i=1}^m |c_{0,i}|_0\}e^{r_0} = \max\{\frac{3}{8e^{20}}, \frac{1}{4e^{20}}\}e^{20} = \frac{3}{8} < 1.$$

Furthermore,

$$\begin{aligned} & \left| \ln \frac{\bar{a}}{\bar{\beta} + \sum_{j=1}^n \bar{b}_j} \right| + \omega \frac{\overline{|a|}[1 + \frac{\Gamma_1}{\Gamma}|_0]}{1 - \sum_{i=1}^m |c_{0,i}|_0 e^{r_0}} \\ &= \left| \ln \frac{\bar{a}}{\bar{\beta} + b_1} \right| + \omega \frac{\overline{|a|}[1 + \frac{\Gamma_1}{\Gamma}|_0]}{1 - |c_{0,1}|_0 e^{r_0}} \\ &= \frac{4\pi}{1 - \frac{1}{4}} = \frac{16\pi}{3} \\ &< 20 = r_0. \end{aligned}$$

Therefore, by applying Theorem 3.1, we see Eq.(3.13) has at least one positive 2π -periodic solution.

Remark 3.1: Corresponding to [10], one can find $l_1 = \min_{m_1 \in Z} |\sigma_1 - 2m_1\pi|_0 = \frac{3}{2}$. So

$$\max\left\{\sum_{i=1}^m |c_i|_0, \sqrt{2} \sum_{j=1}^n |b_j|_0 l_j + \sum_{i=1}^m |c_{0,i}|_0\right\} e^{r_0} = \left(\frac{3\sqrt{2}}{8} + \frac{1}{4e^{20}}\right) e^{20} > 1,$$

which implies that condition (1.3) is not satisfied. So the result of the above example can not be obtained by [10].

Reference

- [1] Meng Fang, Ke Wang and Daqing Jiang, Existence and global attractivity of positive periodic solutions of periodic n -species Lotka-Volterra competition systems with several deviating arguments, *Math. Biosci.* 160(1999), 47-61.
- [2] Peixuan Weng, Existence and global stability of positive periodic solutions of periodic integrodifferential systems with controls, *Computers and Mathematics with Applications*, 40(2000), 747-759.
- [3] Gopalsamy K, Global asymptotic stability in a periodic Lotka-Volterra system, *J.Austral. Math. Soc., Ser B.*, 1982,24:160-170.
- [4] Yongkun Li, Periodic solutions for delay Lotka-Volterra competition systems, *J. Math. Anal. Appl.* 2000, 246: 230-244.
- [5] Y.Kuang and A.Feldstein, Boundedness of solutions of a nonlinear nonautonomous neutral delay equation, *J.Math. Anal. Appl.*, 156(1991),293-304.
- [6] K.Gopalsamy, X.He and L,Wen, On a periodic neutral logistic equation, *Glasgow Math. J.* 33(1991),281-286.
- [7] K.Gopalsamy and B.G.Zhang, On a neutral delay logistic equation, *Dynamics Stability Systems*, 2(1988), 183-195.
- [8] Y.Kuang, "Delay Differential Equations with Applications in Population Dynamics", Academic Press, New York, 1993.
- [9] Fang Hhi and Li Jibin, On the existence of periodic solutions of a neutral delay model of single-species population growth, *J.Math. Anal. Appl.*, 259(2001),8-17.
- [10] Shiping Lu and Weigao Ge, Existence of positive periodic solutions for neutral population model with multiple delays,
- [11] Deimling, K., *Nonlinear Functional Analysis*, Springer-Verlag, 1985
- [12] R.E.Gaines and J.L. Mawhin, *Lectures Notes in Mathematics*, Vol.586, Springer-verlag, Berlin, 1977.
- [13] Z.D.Liu and Y.P.Mao, Existence theorem for periodic solutions of higher order nonlinear differential equations, *J.Math.Anal.Appl.*216(1997),481-490.
- [14] Shiping Lu, On the existence of positive periodic solutions for neutral functional differential equation with multiple deviating arguments, *J.Math. Anal. Appl.*, 280:2(2003),321-333.

Received: September 23, 2006